IB Pre HL:    Unit 1 D:  Quadratic Functions and Its Graph. 


Quadratic Function: 
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	· Standard form: 
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, then the graph is concave upwards.

             If 
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 is the axis of symmetry
· Factored form:  
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 are x-intercepts. 

· Vertex form:  
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(h, k) is the vertex of the graph. 
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 is the axis of symmetry
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Example)  Given 
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a)  Write f(x) in factored form and identify the x-intercepts.

b)  Write f(x) in vertex form by completing the square.  And state the coordinates of the vertex and the axis of symmetry. 

c)  Sketch the graph of f(x)  showing x-intercepts, vertex, and y-intercept.   

Practice)  Given 
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a)  Write f(x) in factored form and identify the x-intercepts.

b)  Write f(x) in vertex form by completing the square.  And state the coordinates of the vertex and the axis of symmetry. 

c)  Sketch the graph of f(x)  showing x-intercepts, vertex, and y-intercept.   

Discriminant and the graphs

How many times does the graph of  
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	If 
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	If 
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